OMRON

2ZP-XLS |ZP-XL6

L—HYZMte> A 7LFV7IVEfGEE
| EIREHEAE |

DRV FREEBEV LV REELTETLILBIDNESTEVET,
CTRAIBLTI RORBEHFIEL,
+ COBREHBAEE LCBTRIMTEY HDITTEEND IR ELCTRALEL,
+ COBURHAZRIIVN O THBRTEALIANREL TTIE L,

*3687165-78B*

ALO B

© OMRON Corporation 2024 All Rights Reserved.

ZEEDER

ORI HBIRREEHRY 5O CUELIETIDTUTFoCLEEL,
(N RCDHREDT MIVTIETERDFEDMT bV VBEATHDF T
TV BB ML DREVERRDIPRDREICHEVE T, e/
TWEIRE) - BEAEEICEBFEEDRRAELGVET,
M3:0.5N-m
M5:3.0~3.5N-m

fERLDEE

(1) TEROREHA CIMEBLEWNTREL,
[ESRYEHN B e BIFRR
BREDARDG S5
RSB RE O ERAMED SIS
ENRZEBAZEEFTERPERRE

(2)(BDRCICTERISIFZRELTTIZEL,

BEEERE
158 ZP-XL5 ZP-XL6
WAt Y| 7P-LS02500, ZP-LS0500 0, ZP-LS10001] | ZP-LS300, ZP-LS60001]
BfIAE KA E360°, FEFHE360°
{EREERE —10~+50°C
RZEERE —15~+70°C
H=EN () 10~55Hz #E#RIE1.5mm  X,Y,Z&AME 2h
& (MA) 300m/s? X,Y,Z&A1E  3E
Lz 9527 :ZDQ2 Ni* w754 b :A5052
ZHE* 012

*1. BAZE (FZE39-L262, ZE39-L263) IFRIFEUIC IRV E T,

B3R

ABEH %p=] 1Bk
NATUFERIVE M5X15 SUS 1
NAETY kM5 SUS 1

BRE

ZP-XL5 (A& &) ZP-XL6 (ABU5H)

\JZ

E39-1262/E39-1.263 (5l5E)

O
—

‘ E39-1262:60mm
E39-1263:110mm

WEW{SF 5% (ZP-XL5)

RIFEY © E39-1262/E39-L263
(M12F vy b, MI2FEEET)

1 ZPXL6EEIRDEIS I HEEBVE T,
A2 M3CIEEY Ay FONREZEERIEEL,
* 1. ZP-XL6DEFEA CIFM3 X 35E VKT,

O FIE

OV FAY FICEEENTVBMEER Y TT 57w Mt Y 2B
TLIEEW,

@A BIFE) 1T > TERIHF T EELY,

OEVHERINI TSy M s 50 THiDEITIEHEDE TIIEEL,

@M57EIUTERIVEMSSEFY b TIZY TEEELTLIEEL,

OM12Fy FEM12FER (558) Z A L T ST Z RIBICE [T TIREL,

CAHER

Yitpamid, — R TER@EGOAAREL TERETREESN TOET RUVELTUORIC
BB TOFEREERL TH5Y. SR UHERECNS DR ICERSN SR
(Z1d, YA LRI TR RV L E R AL 7L RICIBIF B AR TH- T
HHADERL AR GARAREDSEPENDEEN HIHEIREET,

(a) BVWRSMEN DEEINS A (B R FHBIEIE R, IREeax . M2 i, i
SEEQ{%?KQEQ{@\ IREERR R, R TR B. TOMES- FHICERY KUY
pLlicbeS

(b) BVMEFEMED LEL AR (4 R-KE- BREDHIGS T L, 24K S HE SR
YAT L RED AT LEDHEF- T EEBIRO AR HE)

(c) LW SRAEAIIRETORE (Bl BINCRE T 5% fR. LR HERER D% MR,
BREVIFE LR D% MR KB EEEZ B R L)

(d) A2OTZICREHDOEVRAEPRETOAE

*(@)pS(d)ICEEBIN TVBAth, AH2AJERHOBRISBEE (CHEST, UTRH
L)RTlddphEt A BBIEICHE#R T 2 AR ICIEFIALAVWTT SV, BB EREHA
FRIC DWW M E 3B M E (SRR,

*EFRIGEAAROEMGD—ETT, YHONIMNBEHEZOT . F—2—NERFR
DHEAT =T INEH ORI - REREDARTELGRA TIERZEN,

ALOAEKEE 520704 -ba-yaevzamiz-

ORI TIBHVEDEE
BERMEHRE

E:0120-919-066

WHBEE-PHS IPEEEAL TR VTR AN T, TRRNBIEESABMIKA,
Z:% 055-982-501 5 casvvnuzs)

WE %65 : 9:00~17:00 (+®B. BEA. 12A318~RF1H382K<)
OFAX®PWebN— S THBHVADEWALTET,
FAX 055-982-5051 / www.fa.omron.co.jp

Q@ ZDMDBEVEDLE
WE - g - U7 - AREEEMOBIREIE. T EM
HUAF LAOVERFEEICTHRS 20,
F L0 SRR E R 4 L0 S ERFEHLEIE. WebN—F T
CERLTVET,

A@ 2024548




OMRON

ModelZP-XL5 /ZP-XL6

Flexible Mounting Bracket for Laser Displacement Sensor

| INSTRUCTION SHEET |

Thank you for selecting OMRON product. This sheet primarily describes
precautions

Before operating the product, read the sheet thoroughly to acquire sufficient
knowledge of the product. For your convenience, keep the sheet at your

disposal.
*3687165=-7B %

© OMRON Corporation 2024 All Rights Reserved.

Precautions for Safe Use

Please observe the following precautions for safe use of the products.
(1)Tighten the screws within the following tightening torque range. If the
tightening torque is too large, the parts may be damaged. If it is too
small, the parts may come off due to vibration or impact.
M3:0.5N'-m
M5: 3.0 to 3.5 N'm

Precautions for Correct Use

(1)Do not use the product under the following conditions.
*In the place exposed to the direct sunlight.
*In the place where corrosive gas exists.
*In the place where vibration or shock is directly transmitted to the
product.
*In an ambient atmosphere or environment that exceeds the ratings.
(2)Use the supplied screws for installation.

BRatings and Specifications

Model ZP-XL5 ZP-XL6
Applicable sensor ZP-LS025010, ZP-LS05000, | ZP-LS300010,
ZP-LS10000 ZP-Lse00010]
Mounting angle 360° horizontal, 360° vertical
Ambient temperature (Operating) -10 to 50°C
Ambient temperature (Storage) -15to 70°C
Vibration resistance 10 to 55 Hz, 1.5-mm double amplitude for
2 hours each in X, Y and Z directions
Shock resistance 300 m/s? 3 times each in X, Y and Z directions
Material Clamp: ZDC2 Ni plating, Bracket: A5052
Post * 1 12 dia.
*1. Applicable posts (E39-L262 and E39-L263) are sold separately.
BAccessories
Contents Material Qty
Hexagon socket head cap screw M5 x 15 SuUSs 1
Hexagon nut M5 SuUs 1
HEContents

ZP-XL5 (this product)

ZP-XL6 (this product)

E39-L262/E39-L263 (sold separately)

@HO) ©D
—

‘ E39-L262:60mm
E39-L263:110mm

HMinstallation (ZP-XL5) g

E39-L262/E39-L263
(M12 nut with M12 plain washer)

Note 1. ZP-XL6 is mounted in the same way.
Note 2. For M3 screws, use those supplied with the Sensor Head.
*1. The fixing screw for ZP-XL6 is M3x35.

Installation procedure

@Use the M3 fixing screws included with the sensor head to attach the sensor to the bracket.
@Attach the clamp to the post (sold separately).

QFit the sensor bracket into the groove on the clamp tip.

@Secure the clamp with bolt M5 with hexagonal hole and M5 hexagon nut.
®Use M12 nuts and M12 plain washers (sold separately) to attach the post to the equipment.

Final drawing
ZP-XL5

Suitability for Use

Omron Companies shall not be responsible for conformity with any standards,
codes or regulations which apply to the combination of the Product in the
Buyer’s application or use of the Product. At Buyer’s request, Omron will
provide applicable third party certification documents identifying ratings and
limitations of use which apply to the Product. This information by itself is not
sufficient for a complete determination of the suitability of the Product in
combination with the end product, machine, system, or other application or
use. Buyer shall be solely responsible for determining appropriateness of the
particular Product with respect to Buyer’s application, product or system.
Buyer shall take application responsibility in all cases.

NEVER USE THE PRODUCT FOR AN APPLICATION INVOLVING SERIOUS
RISK TO LIFE OR PROPERTY WITHOUT ENSURING THAT THE SYSTEM
AS AWHOLE HAS BEEN DESIGNED TO ADDRESS THE RISKS, AND
THAT THE OMRON PRODUCT(S) IS PROPERLY RATED AND INSTALLED
FOR THE INTENDED USE WITHIN THE OVERALL EQUIPMENT OR
SYSTEM.

OMRON Corporation  Industrial Automation Company

Kyoto, JAPAN Contact: www.ia.omron.com

Regional Headquarters

Il OMRON ELECTRONICS LTD. (FOR UK)
Opal Drive, Fox Milne,
Milton Keynes, MK15 0DG, U.K.
Tel: (44) 1908-258-258/Fax: (44) 1908-258-158

Il OMRON EUROPE B.V.
Wegalaan 67-69, 2132 JD Hoofddorp
The Netherlands
Tel: (31)2356-81-300/Fax: (31)2356-81-388

Il OMRON ELECTRONICS LLC
2895 Greenspoint Parkway, Suite 200
Hoffman Estates, IL 60169 U.S.A.
Tel: (1) 847-843-7900/Fax: (1) 847-843-7787

Il OMRON ASIA PACIFIC PTE. LTD.
438B Alexandra Road, #08-01/02 Alexandra
Technopark,Singapore 119968
Tel: (65) 6835-3011/Fax: (65) 6835-3011

Il OMRON (CHINA) CO.,, LTD.
Room 2211, Bank of China Tower,
200 Yin Cheng Zhong Road,
PuDong New Area, Shanghai, 200120, China
Tel: (86) 21-6023-0333/Fax: (86) 21-5037-2388

E@ Dec, 2024




